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Instructions :
(1) One mark will be awarded for every correct answer, There are no negative marks.

(i1)

0N B8 2 af Sy Wronoudo 2tfhdd. Jsel GmEE Sriyo 39

Clmn.sr.: the correct or n?nst appropriate answer from the given options to the following
questions anc? darken, x:w!h Blue/Black Ball Point Pen the corresponding digit (1), (2), (3)
or (4) in the circle pertaining to the question number concerned in the OMR Answer Sheet,
separately pravided to you.
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Choose the word which is similar in meaning to the underlined word in this sentence.
The poor family has no visible means of subsistence.

(1) employment (2) respect
(3) hvelihood (4) encouragement

Choose the word that is nearest in meaning to the underlined word in the sentence.

2,
His Cartoons lampooned the leaders of his time.
(1) Praised (2) Exposed
(3) Rudiculed (4) Elevated
3. Choose the antonym of the underlined word in the sentence.
Kiran’s attendance at school was sporadic.
(1) Regular (2) Oeccasional
(3) Sharp (4) Co-ordinated
4.  Choose the word that has the opposite meaning of the underlined word in the sentence.
When she saw the stranger, her eyes dilated with fear.
(1) contracted (2) widened
(3) reddened (4) quietened
5. Choose the correctly spelt word.
(1) Playright (2) Mispell
(3) Skilful (4) Untill
6. Choose the correctly spelt word.

(1) perceverance (2) perseverence
(3) perseverance (4) perseveranse
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7 Choose the appropriate set of prepositions and fill in the blanks in the following sentence

The Sunis ____ theclouds, Vani drew that picture a Crayon.
(1) on,of (2) above, with (3) with, for (4) again
sentence.

st, across

g Choose the correct set of prepositions and fill in the blanks in the following

Stirred pride and envy Satan rebelled God.
(1) off, on (2) in, with (3) with, with (4) by,agamnst

9. Choose the sentence which is grammatically correct.
(1) Theevent be telecasted next week.  (2) Theevent will be telecast next week.

(3) The eventis telecasted next week. (4) The event will telecasts next week.

10. Choose the grammatically correct sentence.

(1) Ofthe two major political parties in Britain, the Conservatives and Labour, the later
represents the interests of the working class.

(2) Of the two major political partiaslin Britain, the Conservatives and the Labour, the
latter represents the interests of the working class.

(3) Ofthe two major political parties in Britain, the Conservatives and Labour, the letter
represents the interests of the working class.

(4) Of the two major political parties in Britain the Conservatives and Labour, the latest
represents the interests of the working class.

11. Choose the meaning of the underlined phrase/idiom.
He is a sensible person and knows how to button his lip.
(1) smack one’s lips (2) stylishinappearance
(3) press the lips to look smart (4) remain silent

12. Choose the meaning of the underlined phrase/idiom.

Envy is justlike a Green-eyed monster which can destroy everything.
(1) Anger (2) Hatred (3) Jealousy (4) Flattery

13. Choose the option which can be substituted for the given words/sentence.
A tall strong masculine kind woman.

{1) amazoll (2) virago (3} circe - (4} (_‘;gq_uette
14, Choose the correct one word substitute.
The school or college In which one has been educated.
(1) Leamer (2) Alumni (3) Almamater (4) Graduate
15. Choose the one which best expresses the given sentence in Passive Voice from the given

options.
One should keep one’s promise.
(1) One’s promise should be keptbyus. (2) One’s promise has to be kept.

(3) Apromise should be kept. (4) A promise should be keeping.
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16. Choose the correct Pasc; '
No one told me ahﬂuta fﬁ:ﬁ:ﬂi::nfﬂf S Pra——
(1) Iwas not told about the accid;:nt
(2) Iamnottold about the accident.
(3) Thavenotbeen told about the ac.cident
(4) Iwasnottelled about the accident

17. Rearrange the given phrases into a meaningful sentence
reading books is a habit / but also enlarges the mind / because it not only increases

O (2) 3)
knowledge / which mustbe cultivated by everybod
(4) '
The correct order is
(1) 1,2.3.4 (2) 1, 4, 3,2
(3) 4 13,2 (4) 1,2,4,3

18. Choose the correct order of the following jumbled sentence from the options.
expresses a command / an imperative sentence / a sentence that / or an entreaty /

(1) 2) (3) (4)
is called
(5)
The correct order is
(1) 3,5,4,1,2 (2) 3,1,4,5,2

3) 53,214 4) 4,1,3,2,5

19. Choose the correct form of the verb from the options and fill in the blank.
enough money, we could buy a villa in a posh locality.

If we

(1) havebeen (2) has
(3) had (4) were

20. Choose the option with correct punctuation.
The squirrels nuts were hidden in several hollow trees throughout the forest.
(1) The squirrels nuts were hidden in several hollow trees’ throughout the forest.
(2) The squirrels nuts were hidden in several hollow tree’s throughout the forest.
(3) The squirrels’ nuts were hidden in several hollow trees throughout the forest.
(4) The squirrels nut’s were hidden in several hollow trees throughout the forest.

21. Identify the clause in the given sentence.
The hand that rocks the cradle rules the world.
(1) Nounclause (2) Adjective clause

(3) Prepositional clause (4) Adverbial clause
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22. Fill in the blank with the appropriate option.
learning 1s a dangerous thing.

(1) Aless (2) Little (3) Alittle (4) ThelLittle

23. Choose the correct form of Indirect Speech of the sentence.
He says, “I go to gym every morning.” .
(1) He said that he goes to gym every morning.
(2) He says that he goes to gym every morning.
(3) Hesaid that he used to go to gym every morming.
(4) He says thathe went to gym every morning.

24. Choose the correct form of Indirect Speech of the following sentence.
Rajesh said, “I bought a car yesterday.”
(1) Rajesh said that I have bought a car yesterday.
(2) Rajesh said that he did bought a car the previous day.
(3) Rajeshtold that he had bought a car yesterday.
(4) Rajesh said that he had bought a car the previous day. B

25. Choose the appropriate phrasal verb.

The books on Shakespeare 10 shelves.
( 1) takeup (2) take over
(3) turnup (4) turnover

Read the following passage and answer the questions that follow (Q. No.26t0 30):

While riding his bicycle between two and three O’clock yesterday morning along the
unfrequented locality of the Pimlico Road, a young of foreign extraction named Joseph perceived
the body of an individual stretched apparently motionless in the gutter. He alighted from his
machine and discovered that the victim of the occurrence had been assaulted by some criminals,
who, after relieving him of his watch and all available cash, had made off undetected. The

unfortunate victim, who appears to be well-connected, has not yet been identified. He lies at

present at the Three Stars Hotel in a critical condition, whither his compassionate rescuer escorted

him in a cab. Hopes are entertained of his ultimate recovery. The police are on the alert.

26. ‘unfrequented locality’ means
(1) people often go there (2) not often visited by people

(3) frequent transport is not available (4) prohibited area

27. Josephis , according to the author.
(1) anative of that place (2) a foreigner
(3) anoldman (4) the victim
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28. Where did the bicycle rider find the victim?
(1) at Three Stars Hotel (2) in the field
(3) inhospital (4) inthe drain

29. Whatis tl}e meaning of the expression ‘well-connected’?
(1) having good social contacts (2) having connected to the assailants
(3) well connected to the locality (4) connected with the crime

30. The ‘machine’ mentioned in the passage is
(1) the weapon used by the attacker(s)
(2) thevictim’s personal weapon
(3) the bicycle
(4) the police gun

31. Atoweris in the shape of a cylinder surmounted by an inverted cone of the same base area
as that of the cylinder. If the radius and height of the cylinder are 24/6 m and 14 m
respectively and the height of the cone is 5 m, then the lateral surface area (in square
meters) of the tower is
wg SpHop T FrTeargds DSFSDS WrPTogo SOAS w8 JogoPHio FGoRJERM
&%) S50 2.8 FHbo GHB. dpHo BNY, TEEgsw, e SOIT 2V6 ., 14..
508050 Fogo) BwE) A& 5 . wond, BitPHdo g EP§ o (Fixde) ITogo
(25.20.e065¢)
(1) 330 2) 2206 (3) 33076 (4) 220

32. The part above the cone filled with ice-cream looks as a hemisphere surmounted on its top.
If the height and the radius of the cone are 13 cm and 4 cm respectively, then the volume
(in cu.cm) of the ice-cream is
oHESS JodAS wE Fopod A PKoSY PHED, S80S wfidor GIHB.
Fogpoh B0, e, FgRrgren S6dm 13 20.0., 4 0.0, vond, & 2JHED DY,
25385700 (P08 Do.ded)
(1) 198 (2) 176 (3) 352 (4) 396

33. From a wooden cube of edge 14 cm, a right circular cone of maximum volume is carved

out. If the volume of the removed portion of the cube is V, then 3 V (in cu.cm) is
14 0.0, @othd KOAS 28 §alog 0w Sood HOY H05505r050 EOAS w8 wow
S)8o% Fogohdo BsYLD. 0850 $08 Fohods o @Y, PSH8Sr@o V, ®oND

3 V (2085 olves®)
(1) 2744 2) 2025.33 (3) 868 (4) 6076
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34. A solid metallic right circular cylinder of radius 3 inches and height 8 inches 15 mTh en the

recast into identical hemispheres whose base is equal to the base of the cylinder.
number of hemispheres thus formed is .45
2 Ao,
3 wotbee TgRE0, 8 Wohee J&y Ko &8 DI vonsyhch SR HFT s L
W
:::-q;;'m 0%, sErords DArIRN vdo EORM RECHBTS @gﬁ‘ﬁ'mn‘ il‘éﬂ‘?d" A

& JGom Srdrods @gﬁ‘wﬂ STty

(1) 2 2) 4 3) 6 (4) 8 N
35. A solid iron cube of edge 24 cm is melted and recast into a rectangular sheet of tﬁiﬂknﬂs_S
2 mm. If the length (Z) and breadth (b) of the sheet are in the ratio 6:5, then I+ (0 cm) 18
24700.20. ®othite 2.8 58 20D DS §0hA0D, 2 8.5, Srodo EOA &’?» SSERSED
o FE BT, & B% S, 68 (1) 6o 3desy (b)) © ARG 65 w8,
o [+ b (Roidbest)
(1) 434 (2) 528 (3) 561 (4) 594
36. A vendor sells vegetables at 12% less than the cost price, but manipulates the weight of
800 gms as 1 kg. Then he gets
(1) 10% profit (2) 10% loss
(3) 15% profit (4) 15% loss
w8 DEHTG0E SrEmeheln 5 6 508 12% 8858 esuerd, vond 800
rdne 2%0Pd 2 SS ST S wioerd. edyd &8 STHD
(1) 10% ergho (2) 10% &3
(3) 15% oo (4) 15% S0
37. A dealer bought an article for Rs. 4Dﬂ and paid Rs. 40 towards its transport charges. If he

sold it for a profit of 20% on the cost price, then he gets

(1) aloss of Rs. 40 (2) aprofit of Rs. 40
(3) alossof Rs. 80 (4) aprofit of Rs. 80

28 38t 2.8 5P 400 oS §, T Sarer 8y 808 40 Srien Fdoards. S
362 20% orgiod’ AV Fon, B wdd Ford

(1) 40 &rnen SHo (2) 40 Sruen erglo
(3) 80 &rnen 330 (4) 80 &xien erzo
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38. A telephone is sold for Rs. 4,000 at a loss of 10%. Then the price (in Rs.) at which it must

be sold in order to get a profit of 17% is
o¥ BOYFS 10% 3J08° 4000 sries Donotndod. 17% erdo Folas, TO

DEonoBIOVS & (ries?)
(2) 4,800 (3) 5,200 (4) 5,600

(1) 4,400

39, Ifa ce:rf:ain principal amounts to Rs. 34,000 in 3 years and to Rs. 40,000 in 5 years at a
simple interest of #% per year, then r=
E’mﬁén}raﬁ r% Wﬁ)ﬁéé" §od woen 3 Jodéorest 34,000 drien SH8ciw 5 5035.5;_}:.-&:6‘
40,000 &rie InE8, @iyl r=
(1) 8 (2) 15 (3) 10 4) 12

40. Ifaprincipal of Rs. x, at a rate of interest 20% compounded annually for 4 years amounts
to Rs. 62,208, FhEIl r=
x Erio. ®de0 oy FAT 20% SESG KeoSos® 4 JosHBsne serdE edkhy Indo
862,208 ©o0d, edyd x =
(1) 30,000 (2) 40,000 (3) 35,000 (4) 45,000

41. Amanborrows Rs. 5,000 for 2 years at the rate of interest of 16% compounded yearly. If
at the end of the first year he paid back Rs. 500, then the amount he should pay at the end of
the second year 1s
28 H538 O 16% BE5G Bed 5,000 o 2 Sosd)dsne sPerds el Sofoand.
306583 HoSB)orodos® wEdy 500 Erien D0EK BOR, Bods DosSdrrodos' wEd
BOoSSOS BNy _
(1) Rs. 6,228 (2) Rs. 6,148 (3) Rs. 6,728 (4) Rs. 6,648

42. The simultaneous linear equations 2x — 3y +4 =0 and 3x—2y—4 =0 have
(1) - no solution (2) unique solution
(3) finite number of solutions (4) infinitely many solutions
2x =3y +4 = 0 506050 3x -2y — 4 = 0 &3 5505798 A SDECeT O
(1) &ES doddd (2) D3¢ FES Gotnod
(3) &@Se Jopg HdWEoM otwod  (4) ©I0EIIG FEIen trotrow

43. If the simultaneous linear equations 2x — ky + 5 = 0 and 3x + 2y — 7 = 0 have a unique

solution, then
Dx—hy +5= 03500050 3x + 2y = 7 = 0 93 5505°9% JEdrd SoELerosd JBE 3G

608, BIPE

(1) ""=‘% [2) =3 (3) k=3 (4) k¢~-3—
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44. 30 apples and 23 guavas together cost Rs. 392. If 7 guavas and 15 apples of
together cost ost (in Rs.) of an apple is =
¢ Rs. 178, then the cost (in Rs.) PP L edssy TE D0,

30 &s5e5 B0 HoBasn 23 i Hod Do o8& 392 & e

I5 498 Sog Bndgo by 178 drien ©®on8, ol ¢S Hody wb (e )

(1) 20 (2) 14 (3) 10 i R -
45. 190of 214+27-36+3x6+4—2=

(1) 426 2) 356 (3) 383 (4) 330

46. The sum of all two digit natural numbers which are divisible by 3 1s
38 grAoded SodoEe B5ewm dopge)ods 0 &0

(1) 1665 2) 1776 (3) 1110 (4) 1265
47. The sum of the 9" term and 12! term of the series -;— Ilf -1l5~ I [
1 1 1
IS . @BS* 93 B0 Sobosn 125 Hmre wdo
1 10 10 98
1) — i B e,
48. Ifacard is drawn at random from a pack of 52 playing cards, then the probability of getting
a card having a prime number is
52 08 SoHeo Ko a8 HE E4iod orsylisor af DE Sng s BRILYE, BFS
Dopgdd FHAS WE S FodsEIE Ko DogrHgd
1 2 3
(0 o @) o = @
49. Iftwo dice are thrown simultaneously, then the probability of getting distinct numbers on
them is
Bod FDEOD ETw0S* FPoNIJYD, T8 IS JopgodHd Fodmds Ko RogrHges
5 5 1 7
1) = @ = = L,

50. If3 coins are tossed simultaneously, then the probability of getting atleast 2 tails is
3 B0 IET00S” INEIVIHYE, EAB0 2 FHDODH FoSTIE Ke SEERRIN

3 1 1
(1) 3 (2) D) (3) 1 (4) %

L 104
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51. Among the first nine terms of the sequence 5, 7, 11, 19, 31, 67, 131, 259, 515, ..., the
number which doesnot fit into the sequence is
5,7,11,19,31,67, 131,259, 515, .., o060 306563 820y S, & 0§50
5058 (2308) Sogpg
(1) 3515 2) 7 (3) 31 (4) 131
; 4: 2:3 2
52. The tenth term in the A e !
sequence T T 1, ... is
4 2324 .
21:?1 ,?:3: 3 e @c‘fnﬂé;imaﬁ"m 288 Do . .
15 62 27 104
[ = (2} o 3) — —
53. Among the first eight terms of the sequence 1,2,2,4,8,32,256, 4096, ..., the term which
doesnot fit into the sequence is
(1) 3" term (2) 5™ term (3) 8% term 4) 7" term
1, 2,2, 4, 8, 32, 256, 4096, ... 90E005* A JndE 008 ITest, 8 edHEHes®
ROREA (2S0dd) Hdo
(1) 35 H&o (2) 5% Ho (3) 8% .50 (4) 75 Hdo
54. The tenth term of the sequence 7, 14, 19, 29, 40, 44, ... is
7, 14, 19, 29, 40, 44, ... 0E0085° 65 Hdo
(1) 73 (2) 103 (3) 93 (4) 83
55. IfABBB--AAABA-—-BABAAAB —-BBA is the given letter series with six missing
letters, then the correct option which contains all the missing letters in the order from left
to right is
8 S*20dS vfored® ABBB -~ AAABA ~-BABAAAB —-BBA u38 88 ©g8 @3
o8, S*HoAS VEcw SYoBA G Hod Kb IHSKH V3 EoS® LIAGS) HBRS
mﬂ(}ﬁc
(1) ABBBAB (2) ABABAB (3) BABABA (4) BAAABA
56. If BDGL, DGLN, GLNQ, is the given series, then the correct option which fills
the missing term is
BDGL, DGLN, GLNQ, 038 SE@D wond, S*HoIS HTR) FooB B
mﬂaéu
(1) LNQS (2) INQV (3) LNQT (4) GLNV

IR KR 1A



57. IfZ25A,X21C, T13G,

s AL

: i 1s the
is the given series, then the correct option which fil

missing term is e
Z25A, X21C, T13G, wdn &8 @6 wond, SodS JHFJY Hrood PO

mﬂdﬁu

(1) S5L 2) TIOM (3) NIM (4) RIOK o

58.

. : ame
In a certain code language if the word PENCILS is coded as WKSGLNT, then in the S

code language, the word DRAWING is coded as Eorad®
2§ 9§ §6e4e* PENCILS o3 585w WKSGLNT m 66 3%, o8 565

DRAWING 3580 Bng, 58
(1) JWEZKOI (2) KXGZPH (3) JWEALPH (4) KXFALPH

59,

[na certain code language if the word DELICIOUS is coded as DLCOSEIIU, then the word

which is coded as COOATHCLE in the same language is o
DELICIOUS o3 5oy 2.8 983 §'&erhes' DLCOSENU m» §°6 Bh, o8 Ferad

COOATHCLE r~ §*8 @ic52835 3d0

(1) CHOCOLATE (2) CHAOCOLET (3) CHOCOLAET (4) COACHOLET

60.

In a certain code language if the word FRUITS is coded as 618211878, then in the same

code language, HEALTH is coded as
o€ DPY §'Beraes* FRUITS od 8o 618211878 m 66 wond, od 6oas’ HEALTH

X0E §'&

(1) 85115719 (2) 85112208 (3) 19222615719 (4) 19222612208

61.

A point B is 25v2 m away along North-East direction from A. Another point C is 50 m

distant along West direction from B. The end point D is 502 m away along South-East
direction from C. Then the distance (in meters) between points B and D is

B &3 Dot A $308 S7dy 8FS* 2542 .o Er8os® ¢ob. $6 Dotk C, DBS58
&% Jowd B 08 50 . &rdos’ wod. C H0d wody Doy D sHodH dieS*
502 20, Br50s* @ob. @y B S08am D DothPhe S drdo (Dotages*)

(1) 50v2 2) 50 (3) 25 @) 2582

62.

A clock is so placed that at 6 pm, its hour hand points towards South-East. Then at9 pm, the

hour hand points towards
(1)  South (2) North-West  (3) South-West  (4) North

rodogio 6 Hobiw¥ 2.8 r"i:%od:‘n‘ﬁi, TS HodierSaoen Eﬁ“)_cﬁa;inmorr' = Lo Lo TR

GoNT . Wy, @ 9 fobred fobodnen drdod &84
(1) &gevo (2) arasndgo (3) 38 (4) 80

RO 24
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63. Two friends Aand B are standing opposite to each other at about 8 O’clock in the moming.
If the shadow of A is exactly to his left side, then the direction faced by B 1s
(1) South (2) West (3) East (4) North
Giabo 8 flobe grodoss® A, B ud agth Mihes 2808 568 DEBHGm donbd
SIb. AGDY, I8 pYiSorr w8 IEDH FYS od, B 8 ehSoporig) 8
(1) &eso (2) &S (3) &y (4) &850

64. AisB’sfather. Cis B’s sister. C’s husband is D. E is A’s brother. D’s son is F, Then Fis B’s
(1) Nephew (2) Cousin (3) Son-in-law (4) Brother
B S0y, So@ A. B Sy e C. C @) o8 D. A ok, ¥&cad> E. D B8,
$o578¢ F. ®wond BE F
(1) DoSenk (2) =8 (3) wend (4) F8&%

65. If Asays“B is the son of my sister’s daughter’s husband’s father-in-law”, then A is Bs
(1) Maternal uncle (2) Paternaluncle '
(3) Father-in-law (4) Brother-in-law
“Buldasd & 260 B¥), Sréd G0 FE @ng), Sromd Hdrdhk”. ©d A 38,
B8 A
(1) 89 &k (2) Sold &%
(3) SrSmré (4) ord Sor 55000

66. If A+ B meansAissonof Band A x B means A is brother of B, then A x B + C means
(1) Aisfatherof C (2) AissonofC
(3) Bis fatherof C | (4) B is brother of C
A + B 008 B @ng, $osrshd A Hdokn A X B o8l B &G ¢ddy A @ond,
o5y Ax B+ CooB
(1) Cang) dod A (2) CRwE Ssrdd A
(3) C&wg, dod B (4) C @k, 6t B

67. Every student of an educational institution speaks either Telugu or Hindi or English. If

50 students can speak both Telugu and English, 35 both Telugu and Hindi, 25 both English
and Hindi, 5 can speak all the 3 languages, 15 can speak only Telugu, 25 can speak only Hindi
and 10 can speak only English, then the total number of students of that institution is

28 DTgHoRS BAITEY Beord TR B o M B xohd M Srirdedo.
50 008 Jorghen S0y S8k goia Bodod), 35 00b @enih 008030 rod
3080883, 25 H0od anﬂﬁ 328050 08 Bokoddd, 5 HE Jurdd rledr, 15 Hod
BeniHsy Srigd, 25 5008 rodd SrEd HH8c%0 10 $08 RARKH SrED Srind

KO8, & ;ﬁngtﬁ"m dngo JTghe Doy
(1) 145 (2) 165 {3) - 150 (4) 160

G 134
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68. The converse of the statement “If a number 1s even, then it is divisible by 2" is given hj-,rtmli
number is divisible by 2, then it is even”. Here both the statement and its converse are truc.

. 7y : e
With this information, choose the statement among the following four true statemen
whose converse is also true,

(1) Ifatriangle is an cquilateral, then it is isosceles.
(2) Ifanumberis divisible by 6, then it is divisible by 3.

(3)  Ifthe sum of all the digits of a number is divisible by 3, then the number is divisible by 3.
(4) Ifaquadrilateral is a Square, then its sides are equal.

“uE Sopg $8%0pg wond, wh 2 rhiotiadhEiod”. ud BIBSo @Y, DHEFEVIX
28 Jowg 2 B wrhotndd, wa I0Bops”. 9% & HIS5SH BB TR IHSHE00
Sodor Jdgo.

& J8rTdod’, Bod add Teor D5 PESTOS*, DHEgeEn Sra HEgscy
BITTA doEods.
(1) 28 BgD20 DSoerSy @Eﬁ)?ﬂ@ﬁja‘ &5 ﬁﬁgﬂ.ﬂsgp:m BhadTdé0s.
(2) 2% Dopg 6 B A0S, vd 3 B wrAcHEIEOB.
(3) 2€ Jowgstd ©os03ndgo 3 B rAcdndd, & Sowg 3 8 arhodacdéod.
(4) 2.8 fﬁigl'-‘ﬁ.‘gﬁﬂ BEREPDNE, T Tenky heren DSTS S,
69. If ‘@’ means ‘+’, b means ‘—
49@64475%25%36 is
‘@ o8 ‘¥, ‘H wol =P @B ‘2’ 558650 ‘%’ wol ‘x’ wond, 49@64#75%25%36
Bog), Jens AN
(1) 5 (2) -123 (3) 93 4) 6

70. A car covers a distance of 560 km in 8 hrs. The speed of a bike is five-sevenths of the speed

of the car. If the ratio of the speeds of the bike and a train is 5:9, then the distance (in km)
covered by the train in 5 hours is

&8 % 560 8.20.0 Gro) 8 Hobos' BoKow. uE BE Jsn & 56 Jrost Yoot

B3 S0 &od, & BS 0w 2.8 Dexn G0E), 3Wu€]ﬁﬁ 5:9 ©owE, 5 Horeres* oen
IHAON SrES5n (8.20.0e5¢)

(1) 250 (2) 450 3) 350 (4) 400

71.  The distance between two stations Aand B is 240 km. It takes 2 hours for the two cars I and

W to cross each other ifth ey startrespectively from A and B at the same time towards each
other. Further, it takes 8 hours for L to overtake W if they both start at the same time from
- A and B in the same direction. Then the speed of the car L (in kmph) is

G0 [ado A 580w B o Qg S8rdo 240 8.5, L 508050 W oS 3ot 568 $&5m
A 508050 B © %08 23 SSoahost VORLVAY EIBST Pl R, a8 TASES

TrEnbL¥ 58 steo 2 foben. Mo, & Bos 58 A %0805 B o 08 o3 QA 0e5

20NN 28 BFS PSredy, WH L orbmos 28 500 8 Hodyewn. VIV % L
Bg), IKo (8.00/Kotkd)

(1) 45 2) 50 3) 75

R 144

'S’ means ‘” and ‘%’ means ‘x’, then the value of

(4) 80
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72. An employee will be late by 12 minutes to his office if he rides his bike at a speed of

40 kanph and FE will be on time to his office if he rides his bike at a speed of 50 kmph. Then
the distance (in km) of his office from his house is

2§ GEGH 08 Arirdd DB Mook 40 8.5, © FKos® SAIB w8 shHv 12 dien
YORLOT Doty D0k WS Irird 5 Kotk 50 8.2, o Sos® $A2E @48

g% VOGHS IH0000T” BHED. Bond B8 508 b wsd Yook e Erdam
(&.20.06°)

(1) 80 (2) 60 (3) 20 (4) 40

Directions for questions from 73 to 75 : In each of the following questions from 73 to 75, a

statement 1s given followed by two conclusions numbered [ and II. You have to decide which of
the conclusion(s) follow(s) the statement.

Give your answer as

(1), if only conclusion I follows;

(2), if only conclusion Il follows;

(3), if neither conclusion I nor II follows;
(4), if both conclusions I and II follows.

73 $08 75 368 o HHosH Srdsen: Bod anS@dS 73 Hod 75 565 Ko PHods*
BETIS’ 2.8 (HHSS0, TR Joad [58cw Il &3 Bod wHdden (conclusions) adgEood.
$8 RIBTA ) ©NS Bor wiodher BHVORE® JZBoTd.

0D [ SrEHh vHdeY, D Hdreso (1) v;

@08 I Srgdh ofHddR, o ddrrso (2) ed;

oSHden L Il ot D6 ©Hdbosidrd, D sSrmdo (3) vd;

e [ I oo Bodr @0H87, b S5rerso (4) o ondiod

73. Statement: As it stands today, some Indian sports are not what they were once. India
had significant victories in football and hockey earlier.
Conclusions : I)  Presently we have no good players in football and hockey in our

country.
II) Indialost many football and hockey matches in recent years.
SEDLLIE ST §Q) er68cH $den 285y Gt Ik BH. ok Y

HSerS 08050 Hes® riEdio KpIcHhS Jzcirod Fodod.
sHdHen 1 )R8 8 BFos® HiSerd S0 Tlost $0d sbmey) 8.
) adSosvost grésdio oo 8 YSwrd Hdcn I Fdos*
wIudho FBod.
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74. Statement : All rectangles are parallelograms,
Conclusions :  I)  No parallelogram is 2 rectangle.
)  Allparallelograms are rectan gles,

RSWHo © *'f"é, WEGFror ddross ﬁﬁoﬁi{]ﬂ“ﬁ.
DD 1 1) D I3rosy ﬁiﬁ}:ﬁ;ﬂ:}am &g}tﬁﬁ:ﬁ@m 5.
I) ©d dS5ro0s4 wdinarar 68 $sRd.

75. Statement : A and B are extremities of 4 diameter of a circle. P and Q are any two
points on the circle such that APBQ is a quadrilateral.

Conclusions: 1) |APB= AQB

D [PAQ=|QBP
SR TO A 58050 B ep 5,4 Néo DoY) ¥ Tgdin BwE) wodgHotdHen.
P300ai Qeo APBQag sadiys sosksgtrtam Sygop fo DB Do
DodhoHen,
BddDen ;) APB =|AQB

I) [PAQ=|QBP

76.  Two objects Aand B are projected up with velocities 20 ms~! and 30 ms-! respectively. The
ratio of the distances travelled by them in the last second of their ascending motion is

A, B 0 Both SHa9es $sm 20 ms~, 30 ms™! Ires’ 28 VBT 33 w6 e

Bod0S* DI8 DESS® @I ©Doir8od &rore R\
(1) 2:3 (2) 4:1 (3) 1:1 4) 9:4

77. A particle of mass ‘m’ is moving on a circle of radius ‘R’ with uniform speed ‘v’. The
average force on particle in the interval in which it completes a half circle is equal to
‘m e (B550°8 Ko 28 Ewo ‘R’ Tggo Ho 5EoD DE6S 58 v’ & BOJ B, ©d
vgNEo Fr8 Dot HRTOISHS’ T &) V0 w0 BIE S350

9 2 . 2 2
mv 2my my mvy
1 2 3) —
(1) R (2) TR 3) TR (4) 2R

78. A man of mass 80 kg is moving in the compartment of a train with a velocity of 10 ms—!

eastward with respect to train frame. The train is moving with a velocity of 10 ms~! westward
with respect to ground. The kinetic energy of a man in the groungd frame in Joules is

80 kg © 835077 Ko 2.8 505 S0 A Soky S8 digoo o Sr&nG#S* 10 mg!
Sod® Ehenthd. Beo 10 ms™! Ffos® Bt BT BArBoEHHS 2y S1830
ddom wEd K848 FSost

(1) 0 (2) 4x 103 (3) 16x 103 4) 8x103

ORI
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79. Hf"’" much of heat is m‘bﬂ removed from 50 g of water at 50°C to convert it into ice at
0°C? (Latent heat of fusion of ice = 80 cal g and specific heat of water = 1 cal/g/°C)

50°C s 58 &) 50 g © d8B 0°C D¢ Do (ice) m Srdyrdd T Hod
SofoTdd &R0 Jed Jod? (Sooth HdefHsS oxHo = 80 cal o7l K850 A8
D3x[S0 = 1 cal/g/°C)
(1) 6500 calorie . (2) 650 calorie  (3) 650 ) (4) 6500 1]

80. Thespeed of sound in airis 340 ms™'. Ifits frequency is 170 Hz, then the distance between
compression and immediate rarefaction (in metres) is
mos® &6 3o 340 ms~. 170 Hz P850 Ao B Mot QosrednSdydo SEdm
2AAS JoadSo, DEPEEoe HEg Srdo (Qdages®)

(1) 1 (2) 2 3) 3 (4) 4
81. The phenomenon which is not involved in the formation of rainbow is

(1) Dispersion (2) Total internal reflection

(3) Refraction (4) Diffraction

Q0[S 39 ABYELOS® O Ky od?

(1) D8de0 ' (2) Dodrgross Sorsglo

3) Sdzsso . (4) 258350

82. Inthe circuit shown below potential at point Ais 20 V. The potential in volts at point B is
Bod S0 Socho (circuit) &° A Do) 5§ FBIHS 20 V @onss* B Dot 3¢
FBIHS G (volt) o

1A 5V
A o—>—— NN——"—B
5Q
(1) 20 2) 15 (3) 25 (4) 30

83. Two particles start simultaneously from origin and moves along +ve X-axis. One particle
moves with uniform acceleration starting from the rest and second particle moves with
constant velocity. The distance between them
(1) Continuously increases
(2) Does notchange
(3) First increases, decreases to zero and then increases
(4) First increases, reaches a maximum value and then remains constant

Bo Segren Sare Dok S00d +ve X-vfo Joad 28 0 Hosrdosto Bodien DETo®.
288 JHOYS $08 INEDE IEB SrEwos” HASrBRID. TodSs HIHos*
BHrSHRHT 2B S5 b0

(1) ESom D@08

(2) S8

(3) [oodid BA, G &4, s DD

(4) BBk OA, HOH Je0SH Fob, S0 D Sy HoBE

i LT — 17
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84. The products formed during the electrolysis of brine are
BS%o DefsglciBero DoBodSHyd i‘]tﬁgﬁ ad&yamen
(1) Na,SO,,SO,, H, NaOH, Hs, Cl,
(3) NaCl,H,,Cl, (4) Na,CO,,CO, H,

85. Which of the following is an ingredient in antacids?

o8 T8 28 SIS 0S” (antacids) e.€ o @otnod? MgSO
(1) Na,CO, (2) Na,SO, @) NaHCO, (4) S ‘;.St
1
86. Identify the metals which do not react cither with cold water or hot water from the

givenunder.
Bod =da Sod, S0 S’ ™, 28 ABS ™ S8 S0 St e ﬁ)ﬂ”‘ﬁﬁm'

Mg Al K Zn Fe Na

I I I v v vy
(1) LILVIonly (2) ILIVonly ((3) ILIV,Vonly (4) I, Vionly

87. Which of the following has the lowest pH value?
(1) Blood (2) Gastric juice ‘
(3) Pure water (4) Sodium hydroxide solution

508 TES* I8 538 pH DensH €08 &otnos?
(1) 5o 285650 (mgRE o)

(3) ®4 =2e0 (4) FESOTETHE TS0
88. Which ores are generally subjected to roasting in the extraction of metals?

(1) Oxide ores (2) Sulphide ores

(3) Carbonate ores (4) Sulphate ores
S'To Y LS, ) FHIHoH Frdmon $55 @EcH% (Roasting) &% Bardo?

(1) 88 FHHen @ B éHen
(3) SIS gredHen (4) ITYE péHen
89. The metal lead is present in the ore, X and metal mercury is present in the ore Y. X and Y are

respectively
(1) Bauxite, Pyrolusite (2) Haematite, Galena
(3) Galena, Cinnabar (4) Cinnabar, Galena
X 0 gréPes* B8 5o Soénod. Y el T&D) (ore) &° 38%0. S'I0 Goéod.
X, Y e S5m
(1) 2B, DD (2) 58S, o
AT, dders | (4) 26, RO

90.  The oxide of metal ‘X reacts with both hydrochloric acid and sodium hydroxide. What is X?
X ol o @By, «Fs, TIEEOE edo, FEcsho TIEEE BodolSE* S B8

JodEod. ‘X’ 8558 D69
(1) Na (2) Mg 3) K Al
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91. Following are some of the organisms in an ecosystem. Arrange them as a food chain.
[) Frog ) Grass ) Snake IV) Eagle V) Locust
. w8 2ordde 555;3@55 S'Q) Lo o ‘5357_‘&’12:13;0.:::. T8 e Feodom amdgﬂfﬂ-
) &3y ) A3 Ioge 1) >80 V) @ V) oié
(1) I=I=MI=IV=V 2) N>Vl
3) IV=2II=I=V=I 4) VoIU-IV-oII-]
902. Snow-blindness is due to
(1) Infrared rays (2) UV-Arays
(3) UV-Brays (4) X-rays
ﬁﬂ~%ﬂ5§ﬁ§ 58800
(1) Jodoes 88egren (2) UV- A8erren
(3) UV-BS8derrex (4) X -&8coen
93. Pick up the mismatched pair |
(1) Coxal glands - Scorpions (2) Malpighian tubules - Insects
(3) Nephridia - Prawns (4) Flame cells - Flatworms
oM 28 VI 28D KHoNod
(1) &S Hodoen - 8¢ (2) SrdicHs @en - Sbsten
(3) SypEen - Fadgen (4) =qor Saron - OIKY YHHeo
94. Match the following. ‘
List - I (Chordate group) List - IT (Example)
a) Fishes 1)  Bungarus
b) Amphibia 11) Camelus
¢) Reptilia iii) Labeo
d) Mammalia iv) Passer
v) Bufo
808 B 2SHEH0A.
e - [ (5798 ddarro) D - [ (Gorirdem)
a) Soemgen 1)  avomdS
b) &gfcShSoren i) Zeood
¢) S6Jren iil) &dcaar
d) Esoren V) >SE
V) ardF
The correct answer 1s :
DBGDN VAR -
(1) a-ii, b-v, c-, d-ii (2) a-iv, b-v, c-1, d-i1
(3) a-ii, b-i, c-v, d-111 (4) a-iii, b-iv, c-ii, d-i

AR A
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(1) Contrgy SO,

(2)  Control Poisonous gases in automobile exhausts

(3) Cf_bntm] Particulates of exhausts of thermal power plants
(4) Dispose hospita] wastes

SOBBE 508608 &

96. P-:::I},rembr_-mny IS common in

(1) Banang OV Totisia (3) Potato (4) Citrus

RITVDOL S (Pﬂlyembr_‘,rﬂny] DS B S0

(1) s (2) &5 somese B) womdes  (4) sy
97. Match the following '

List-1 (Alkaloid) List - IT (Use)

a)  Caffeine 1)  Antiseptic

b)  Nimbin 11)  Sedative

¢)  Scopolamine i) Excitation of nervous System

d)  Pyrethroid '

v) Treatment of Malaria
v)  Insecticide
808 B 2SHES08.

Dee - | (@PJET'EJ"U.}JE) erdar - ] (BORB>K0)

a) TPS 1) o8DDE
b) 2055 )  So8y S0
C) ¥POJS iii) TASEY wdn wsgo
d) eEons V) So860sy D8
V)  d&Eaad

The correct answer is -

VOGRS JSrrEsw

(1) a-iii, b-i, c-ii, d-iv (2)  a-v, b-ii, c-i, duijj
(3) a-iii, b, c-ii, d-v 4) a-i, b-iii, c-iv, d-ii

LT 20-4
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The NADH synthﬂcsised in glycolysis is transferred into the mitochondria
and undergoes oxidative phosphorylation.
StatementIl:  NADH is oxidised to NAD" fast|

respiration.
(1) Both statements I and II are true.
(2) Both statements I and II are false.
(3) Statement I is true, but statement I] is false.

(4) Statement L is false, but statement II is trye.

y in fermentation and slowly in aerobic

gy 11 B50RRS" Sogadis NADH Des'sodosre® GBS FINBBAS Botkoos.

argwg 11 : 555:506‘ NADH #0& NAD? KOS, Tras0dirs TedE oS BEVIATS
©§i¥8mo Bokhrsod.

(1) agmgen I, 11 388059,

(2) argagen I, I $85052 5.

(3) Tgwg 1 ¥Bc08H, 5 gy I F8G0L8 526
(4) argwg 1 905088 e, 50 Trgwg 1T H88058.

99.

Study the following statements and pick up the correct ones.
I)  No energy expenditure takes place in diffusion.

II) Infacilitated diffusion special proteins help to move substances across the membrane
by utilising ATP.

IlI) Inplantstransport of materials over longer distances proceeds through the xylem and
phloem and is called translocation.

IV) Facilitated diffusion is non specific for molecules to be transported.
80 wozren wEgado WY ITS T KHJoHod.

) %8 (diffusion)es® ¥§ IR0 26K8.
) BooFss dddes* (facilitated diffusion) HBgE @FHhen dorgodH &bo myo
Sareoe BDoddos® ATPY DIRrAcwB0érron.

) 3nghos’ hd, FiE Snzreo OG0 SrfFrosrodd ITTe ST VITFJ)
280 (translocation) wodrd.

[V) Dodféd dd8n (facilitated transport) Sares BoHS0VS LenHo mgga Spla%
(non specific).

(1) LI 2) LIV (3) LIO (4) ILIV

W Tk



Booklet Code A

100. Stwdy the following and pick up the correct statements
D A fycorrhiza is a symbiotic agsociation of'a fungus with a root system.
) The water loss through the leaves of plants in its liquid phase is called guttation.

I Transpiration occurs mainly through the stomata in the leaves.

IV) No energy is required for diffusjon.
(1) Ionly (2) IandIlonly

(3) I Iland Il only (4) LILIIandIV

o8 3D egganso B8 V0% worod KrBotod

D 28T 03n 3001850, 3k 55:@3. JGESS Hoodo.

) &3 3wge e TET VD (63 ErBos® sl TS Dodh@So (KBAS)
Bodrd,,

1) E‘:r"-ﬁj)%]éo :113-“#15931'“ BH0S® o 2E Solzre aeor 2Heédod.

IV) %8008 #8 wssso S,

() Ismgd (2) 1508050 11 Soveso
(3) L I S08050 1T Sovss (4) 1,11, Il 508050 [V

101. Appearance of hair on the head of human embryo occurs at this month of pregnancy.
(1) 3™ month (2) 5™ month
(3) 7™ month | (4) 9" month
T8 Enawﬁaﬁageﬁ" HE\Se0 2308 6 IS Eireo S0 Jognsen ooSdo (Ceds [ EARS I A TCYAY
(1) 35 3o (2) 55 Je
(3) 75 3o 4) 95 3o

102. Pick up the odd one
(1) Mangifera (2) Cycas (3) Pinus (4) Ginkgo
Do &) &I HBood
(1) Srozpor (2) &S5 (3) o5 (4) Aos*

103. Genotypic ratio of Mendelian Monohybrid cross in F, generation is
B00BIADS IE H0ES B08E@oS*D F, S0t 28D D8,

(1) 3:1 2) 11 (3) 1:0 4) 1:2:1

A 2.4
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104. Statement]l: In s:pnnges, digestion is intracellular and they have canal system.
StatementII:  Cnidarians having exoskeleton are able to form islands in sea called coral

reefs.
(1) Bothstatements [ and II are true.
(2) Both statements I and II are false.

(3) Statement I s true, but statement II is false,
(4) Statement L is false, but statement II is true,

gy 1 DoRFOS” Serroddd RFEAD 2HE0H. HisS? Boergdgsp 0dnod.
agpg 11 arirg wpdoudo OAS DWOSKY SSnGos® Aol EESKLY. T

P Geren wolrd.
(1) agwgen I, II S8305.
(2) argpgen I I H0G08D 7).

(3) ogwg I 90088, 50 argpg 1 SO s,
(4) argwg I 586088 57, 572 argeg 1 S8GIa.

105. Function of synergids is

(1) Nutrition (2) Directing the pollen tube
(3) Formation of endosperm (4) Formation of pollen grains
D008 Segre (synergids) D6
(1) 2%e (2) Jvcieredd Srod) JgIoido
(3) wokHTR) AEHE0 (4) Sordandods Hssto
106. The number ‘zero’ was first invented by whom? |
(1) Romans (2) Arabs
(3) Indians (4) Greeks
08 008 I SIES °6?
(1) &0 (2) wdayen
() ssdoswen (4) %o
107, Who is the first martyr of the 1857 Revolt?
(1) Mangal Pandey (2) BahadurShahII
(3) Nana Saheb (4) Jhansi Lakshmibai

1857 8&ertnd® 89 adHAm IS0 T AFE?

(1) sots>od )
3) oo TS (4)

Sotd a5drE
&) ©fprd
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108. In which Indus val ley site more number of wells were discovered?

(1) Harappa (2) Kalibangan

(3) Lothal (4) Mohanjodaro
o) Do&reStass DBFS0S" I8 S F0GoS® P EHFSEID.
(1) &oam (2) s&2oXe

(3) S A rostors

109. Name the Principal of the Anglo-oriental college, Aligarh, that changed the attitude of Sir
Sayyad Ahmed Khan towards the Indian National Congress.
(1) Theoder Marison (2) Henry Siddons
(3) Theodore Beck (4) William Archbold
08 280D so@D D8 D6 Jcfgs wimBrS 3P0 50y WdNE wsolr-£,00000S
Eordre ENTFS .

(1) 88rss 57855 2) T 265
@) earas e (4) 200%0 SES'S
110. Match the following.
List-T List-TT
a) Lingaraja Temple i)  Chola
b)  Vaikunta Perumal Temple 11) Hoyasala
¢) Brihadisvara Temple 1ii) Ganga
d) Belur Chennakeshava Temple iv) Pallava
& 1808 T80 zduood.
dar-] Har-]]
a) Oonoz veHo 1) &%
b) IHod DHIrE socho 1) Fohdye
C) s seadho 1) Kok
d) Beord IGHIPES sodho V) S
The correct answer is :
OGS SSrgrddwn
(1) a-i, b-ii, c-ii, d-iv @ i b, o i
(3) a-iv, b-iii, c-ii, d-i (4)  a-iv, b-i, c-ii, d-iii
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111. Match the following,

List-I List-II
a) I-'({lﬂ Dalhuus.m 1)  Local Self Government
b) William Bentinck ii) Pindaris
¢) LordHastings iii) Thugs
d) LordRippon V). Annexation of Oudh
& 1Bod T z=&nchod.
AL | Der-
a) of E55 ) I8 vhode8
b) 0o BoBE i) Somben
c) ©o§ wRofy i) Gen
d) o BHS V) T§ sEsom
The correct answer is :

P8GY JBIrprddw
(1) a-iv, b-ii, c-iii, d-i

a-iv, b-iii, c-i, d-i
(3)  a-i, b-iii, c-iv, d-i (4)

a-i1, b-i, c-iii, d-iv

112. The revolutionary organization ‘India House’ established in London was handed over in

1907 to -

(1) Mahadev Govinda Ranade (2) - Gopal Krishna Gokhale

(3) BalaGangadhar Tilak (4) Vinayak Damodar Savarkar -
©O8SS” FLoWRES IPS V0P ‘Woddir FH'& 19076 568 eByRoTE?

(1) %5385 Dol oosd (2) Fdolyy Fpd

(3) woKomss 86§ DTS TGS 5,6
113. The Sabarmati Ashram was established by Gandhiji during the period.

(1) A.D. 1906-1907 (2) AD. 1913-1914

(3) A.D.1915-1916 (4) AD.1917-1918

mohd Bad eFdos FHoAS sTodw.

(1) &5 1906-1907 2) &4 1913-1914

@) &5 19151916 (4) &4 1917-1918

114. In which year Vasco da Gama first reached to Calicut?
(1) A.D.1498 (2) AD.1492 (3) A.D.1598 (4) A.D.1491
D Bo3EBoS® T AMET INEBIOM TS Bordd?

() &4 1498 () &5 142 (3) 51598  (4) &4 1491
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115. The Hunter Committee was appointed
(1) To control extremists activity
(2) Tonegotiate with moderates

(3) Toreport on salt satyagraha
(4) To enquire into the Jallianwala Bagh Massacre

G086 E20¢3 B £55 AcHAosdIB?
(1) sade SEgedd wbELH T8

(2) odgadreod JSohdomes

(3) &y degiidron ITBE §E5
200HS Torerh $fodon Jwrdedy

116. Which text among the following is considered as Buddha’s biography.

(1) VinayaPitaka (2) SuttaPitaka
(3) Abhidhamma Pitaka (4) Buddhacharita
80B TIS* O oo anefd Bk, 28 SOEM™ T D0DRES08?

(1) DHcH Herg 2) D8 HLE
(3) ©PE8Y Dé¥ 20508

Who described 1857 Revolt as the First war of Indian Independence?
(1) - Ganesh Savarkar (2) Vinayak Damodar Savarkar

(3) BalaGangadhar Tilak (4) Vallabhbai Patel
1857 Sherind BES rss Sdogy Soyrdoom $oDSE ISE?
(1) #BQ 36,6 DTl TRrEE FHE,0

(3) wro Kormrgd 80§ (4) Sodercd 8BS

117.

118. Which was the first Mookee Movie in Telugu?
(2) Bhishma Pratigna

(1) RajaHarischandra

(3) Malapilla (4) RaituBidda
Benie® Sndd Swrd o A8?

(1) ooz 0% @ ARVRRT
(3) Sorode (4) 2 g

In which year the Muslim League passed a resolution demanding Pakistan?
(1) A.D.1937 (2) A.D.1936 (3) A.D.19%40 (4) A.D.1942

9 Bo5&)B0st S0 OF FEJS Asrol Wix 8oRoN0B.
(1) &5 1937 () &% 1936  (3) &4 1940  (4) &4 1942

119.
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120. Which was the first Newspaper in India?
(1) Beng_alNews (2) The Hindu
(3) AmritBazar (4) Bengal Gazzette
ESBF0St INGY TTHBE AB?
(1) BomsS 6o 2) & ok
(3) oS 2=d @ BomrsS RS
121. In which of the following Congress session Non-Cooperation resolution is passed
(1) Nagpur (2) Calcutta
(3) Vijayawada (4) Amritsar
808 TS Q 5oR0 JSrIFoS® D JTEEe doydo Bobeadod.
@) s 2) fofe
(3) DzcShHad (4) vsns26
122. Who among the following was the founder of Indian National Congress?
(1) BalaGangadhar Tilak (2) William Wedderbumn
(3) BruceT. McCully (4) Allan Octavian Hume
§od 78S 88 =8SH oS FOVSTONE?
(1) erofordd 8o (2) 290 3go06)
(3) @rR.8. 8B YO] VTICHS JUgD
123. Who wrote the book ‘Poverty and un-British rule in India’?
(1) Ramesh Chandra Dutt (2) Rudder Palme Dutt
(3) Dadabhai Naoroji (4) Surendranath Benerjee
‘F8H w0l wS-QBA &S 28 20805 [Kogrd) EDoNIH ISE?
(1) &35 Sod 86 (2) 646 >S &§
@) woows 62 (4) boEE BIG
124. “Give me blood, I will give you freedom” - Who said
(1) Jawaharlal Nehru (2) Subhash Chandra Bose
(3) Mahatma Gandhi (4) Lal Bahadur Shastri
“T% 8o ascod, I%H ¥ IgdoErgd) A" ©HB IIH?
(1) =2356erS JTor @ Hogratold &9
(3) Sodtery ol (4) &b 25Ers TR

LT 7.4
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125. India was transferred from East India Company to British Crown in{lil;: yilr[;. 1947 B
: 3) A.D.1859 o
(1) A.D.1858 (2) A.D. 1857 (3) D ns HoSHGD

Q0805r, GF 20dcir Sond oD DT TSbE Fos FoE ooty o
(@) &5 1858 (@ &£ 1857  (3) &&189 (4 XA

S Report?

126. Which formula was proposed by Muhammad Ali Jinnah after rv:zjectlon of Nehru Ke€p

(1) Thirteen points (2) Fourteen points

(3) Fifteen points (4) Sixteen points \

v ADBES BEH000S Sogd HHoIs e 2o 2 drEd) @@ﬂ*&noﬁ&.

(1) d&Sord dr@es @ Somen dETes 1

(3) J&TH Srgren (B) 5556 dreed }
ajguru was executed on the following

127. Under Lahore conspiracy case, Shiva Ram Hari R

date
(2) 23 Apnl 1931

(1) 23 March 1931
(3) 23 February 1931 (4) 23 January 1931

OFFE Koo T 1808 ISTD H8 T EKHHS $0EDS &0 D8?

(1) 23 s> 1931 2) 23 9@oHS 1931
(3) 23 56 1931 (4) 23 =358 1931

128. Which one among the following was not the founders of the revolutionary organization

Hindustan Republic Association?

(1) Chandra Shekhar Azad (2) Sachin Sanyal
(3) Ram Prasad Bismil (4) Jogesh Chandra Chatterjee

oSS 8595 AVEDAS BT IVS BoP FIHOS* Bod TBS® IS Bo?

@ Soins s (2) 305 sagS
3) TSEFE dS (4) BR. 568

129. The British Officer Saundars was assassinated by

(1) BhagatSingh ~ (2) SuryaSen  (3) Jatindas (4) SachinSanyal

B8R @570 Fodd) 30T Srdy Dohagd.

(1) etiSRok (2) drognS 3) =8Se% (4) 208 dags
130. Who criticized th ipps Mission as “ P

X h‘i gcrhl mizi e offers of the Cripps Mission as “the post dated cheque drawn on

(1) Nehru (2) Gandhi (3) Azad (4) Rajendra Prasad

B DA FWNLEH DEIES TEY, “Barer B wrcokols v
D58 DH0B0TE? 2 THWH 20 Swosty BT

LR -
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131. Naganika who ruled the South India as a regent during the Satavahana period was the Queen
of the following ruler?

(1) Srimukha (2) Satakamil
(3) Satakarmill (4) Gowthami Putra Satakarni
péTrH0 S0od’ B8 rEERTY) Trag 06T FOoRS TEIE & BodTBS’
258 ooed?
(1) &30 @ 68 TELh
(3) Bods TE8Y (4) TEYS TEED
132. During the Satavahana period, for the Administrative purposeé kingdom was divided as
following. .
(1) Ahara (2) Nadu (3) Sima (4) Sthala
PETTRHO Foa Tt HdJod Fodgo §do orergR) 8o deorr DeSBoT .
@ S (2) & (3) %% 4) %o
133. Who was the founder of the Pancharamas in Andhra?
(1) Kubja Vishnu Vardhana (2) PulakeshinII
(3) Rajaraja Narendra (4) ChalukyaBhimal
wogBdos® Domrdre AT ISE? '
(1) g I8 Sl (2) Tods Hoss
(3) ozoz SCohdd 3068 sy Hdwodd
134, Place the following rulers of Vijayanagara in the chronological order
i)  AchyutaDevaRaya ii) DevaRayall
ii1) VenkatapatiII iv)  Saluva Narasimha
808 JzoHIKE Fod) sordHElor 8.
1)  esgs 350705 ii) Bodd BSorchen
iii) Bodd DoEerHd V)  arend 8o

W) iiLiiv Q) i ii Q) il ivi i, iv, i, i

135. Who was the Author of the work “Sakalaniti Sammatam™?

(1) Prolarajall (2) Madiki Singana
(3) SingaBhupala (4) Rudrama Devi
PEQH ﬁ‘;'}:&éim’ \o& G500 JSE?

(1) Bods @Fooe @ 588 ol
(3) %of grdrend (4) SHESBD

i\ﬂllﬂlﬂlﬂllﬂﬁllll 294


8923917
Oval

8923917
Oval

8923917
Oval

8923917
Oval

8923917
Oval


Booklet Code @

rt was initiated by the following Kakatiya ruler.

136. The construction of Orugallu Fo :
(1) RudraDeva (2) Ganapatl‘Dwa
(3) Rudrama Devi (4) ProlaRajall
Lhrey §¢ o) s80Do0S sEloH T
(1) BB (@) twsa B
ove
(3) BB (4) Botd @ A
of Krishna Devaraya?

137. In the following which Telugu work describes the daily life
(1) Manucharitra (2) Amukthamalyada
(4) Krishna Devaraya Dinachare

(3) Rayavachakam
& 808 2 Bewid HoSos® &y BSTraH BHSE Sgoswdod.
(1) So5050 @ s Sngiregs

(3) ocraauEESw (4) $RBSocs BIWO

138. Vajrakarur is famous for
(1) Textiles (2) Gold (3) Diamonds (4) Copper
S@:EErE B8 B8
(1) S@eo ) worso () Seres (4) on

139. Andhra Mahila Sabha was established by
(1) Sarojini Naidu
(3) Muttu Lakshmi Reddi
@O SoTreedy JOT LROBDESE
(1) 2680 arcdodd
(3) ;{J.J.Jéﬁ_ﬂtﬂéé 4

140. Sri Mukhalingam is located on the banks of the river

(2) Durgabai Deshmukh
(4) Duvvun Subbamma

@) Sogerc 85508
(4) Jrgd Joeydoy

(1) Vamsadhara  (2) Nagavali (3) Gosthani (4) Champavati
D 58 2dS 8 Snpdoffo Sokd?

() soszs Q) amse 3) &35 (4) So>sa
[41. Which of the following longitude is called as international date Jine?

(1) 150°E (2) 160° W (3) 180° @) 0°

& (808 2 BP0FS50S BoSTEDH BIBHT Bendh?

(1) 150° & 2) 160° 3 @) 180° @) 0

OB A 30-A
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142. Which State of India occupies first position in Jowar production?
(1) AndhraPradesh (2) Maharashtra (3) Telangana (4) Karnataka

FO83H0S" ) T°Fo THBol eEYBS® TBE FFo BENDDIB?
(1) ©o$®35  (2) sovvog  (3) Boorm  (4) Somek

143. Match the following,

List List-I1
a) Yarada | i) Bapatla
b) Mangmapudi ii) Nellore
c) Suryalanka iii) Visakhapatnam
d) Mypadu iv) Krishna
& 808 T8 28T0%04.
s eIl
a) orord ) sl
b) S0oASHrs i) S
c) dgoos T T
) B WG
The correct answer s :
DOCDN DT :
(1) a-1,b-1, c-111, d-iv 2) a-iv, b-iii, c-ii, d-1
(3)  a-ii, b, c-iv, d-ii (4) a-iii, b-iv, ci, dii
144. Which of the following Rock is not a Igneous Rock?
(1) Granite (2) Basalt (3) Quartzite (4) Pegmatite
& 808 8BSt IO ©h) WO J02050NJE 5707
(1) 360 2) wdey (@) s5gs (4) DESrBES
145. Which of the following is not a tributary of the river Bramhaputra?
(1) Teesta (2) Manas (3) Luni (4) Dihong
& 1808 FES* DO ;gaf’.réf.g)@a’)ﬁ Ga5H 50?
(1) &2 2) 5785 @) ord (4) 8%oh

146. Average monthly values of maximum temperature, minimum temperature and rainfall for a

place can be represented by
(1) Climograph  (2) Thematicmap (3) Climatemap (4) Histogram

2§ |Frodo B ©EgR8 TS esgo) SRS Sodain ST &S0 ©EGo S0
() zarers (2) 3s6g dbo  (3) 8858 dbo (4) DRCS

CTTIT
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(2) Anelongated oval path
(4) A definite path

147. The shape of the Earth’s orbit is
(1)  Acircular path
(3)  Ascaled oval path
WrEES RS w¥yd

(1) Syess sgg (2) 8¢ symss 8

§odo 5% & &3) 5EE E5g (4) mﬂaé@_&é 41N .
148. The moist deciduous forests located in North Eastern Andhra Pradesh grow in the following
range of rainfall. _
(1) 100200 em  (2) <75cm 3) >250cm  (4) 50-75 cm

75 SOEBBIS’ ) eg sy waHen Bod BODS D SEFS H0HS* DHIHE W,
100-200 ®0.20. (2) <7520,  (3) >250 Do (4) 50-75 Ro.e.

149. Choose the incorrect statement.
(1) Indiais the largest producer of raw jute and jute goods in the world.
(2) India stands first in the world in su gar production.
(3) India stands first in the world in jaggery production.
(4) India stands ninth in the world in crude steel production.

808 et Jos TEgR) HBoSod.

@ BIDTE, 253578 SHeo GHAS® (HHoK0S’ ESTTAH Tk ﬂq‘;r'ﬁc-.
RDowoesS® Hoberd GHAS® ;ESTTIH TS 0. ;

(3) PDooes® DYo GHBS® PESETIS 88 Fo.

(4) BHdoBoes® S0d G5, GHES® rESBTAG 0SS %ﬂs’m.

150. The Periyar Tiger Reserve is located in
(1) Tamil Nadu (2) Kamataka (3) Goa
280irE Yeve SodEm Soo &) |rodo
(1) s (2) Soows 3) fa 469
151. Clause 2 of Article 13 in Indian Constitution is not applicable to

(1) Lawmade by the Parliament '
(2) Ordinance issued by the President of India
(3) Constitutional amendment made under Article 368

(4) A decision taken by Union Cabinet
erd8 Targoddng’'d 135 RECainS® do 25 s B8 80w

(1) &Eodn Erdroboddd W&

(2) 88 RIS =8 VIS I |
(3) 3685 (HEdeodn ©H380D ErFododnds orargolf HS8e0

(4) o8 55D &%) dgao

MR A0 2.4

(4) Kerala
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52. Which of the followin .

st € 1S not correct with regard to Fundamental Duties in the Indian
(1) Fundamental Duties are

(2) Fundamenta] Duties cannot be enforced by writs,
(3) TenFundamental py;

ies are incorporated by 4214 ituti
(4) Eleventh Fun et p Y Constitutional Amendment Act.

y al Duty was added by 87™ Constitutional Amendment Act.
F08 TEGONOS* Ko |3EnE Dot H000B0D HOSHA?

(1) SONE dhen rds e, SrBB0 $6r00.
(2) B850 TG |PENE Do BSes HESBL%0.

(3) 425 TErgol B8 08 FEE rof FodhiERLs.
(4) 87% Trargonl 956 RET0ES (FEDE BN FoHIEDIB.

applicable only to citizens of India.

53. Which of the following is not correct with regard to Vice President of India?

(1) Hedraws his salary as Chair Person of Rajya Sabha.

(2) I-h:s salary is paid from Public Account of India.
(3) His tenure is five years.

(4) Heis elected by Members of Parliament.

EARle]1] &5@’@&@% Q020800 HoTIB?

(1) oragds ©6gHha Fos® vdds d88do odod.
(2) ©83 285850 88 HDE eToln K08 BOJL.
(3) ©& Hdds"wo 5 HoSdoren.

(4) ©&5 FIootn Jhgo BE INEHE .

154. The Directive Principle in Article 43B relating to co-operative societies was incorporated

by this Constitutional Amendment Act

(1) 91% Constitutional Amendment Act
(2) 93" Constitutional Amendment Act
(3) 95" Constitutional Amendment Act
(4) 97" Constitutional Amendment Act

43B P85S0 Ko ST5°E Ho3reBd Ho2050DS BBY dr@hnik FothdERS Trargol
MR8 B0

(1) 913 orargol DSGe S&S0
(2) 93 % orargoff $P WSO
(3) 953 orargol DS8e Wydw
(4) 975 oargoll DSed Wiy

LT
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155. Which of the following is not correct?
(1) RajyaSabha provides representation to States. il
(2) Deputy Chair Person of Rajya Sabha is elected by the mem bﬂfss ”tf] ff:‘-]y B
(3) There is no reservation of seats for Scheduled Castes in Rajya >a

(4) Thenormal life of Rajya Sabha is six years.

1808 TS HO5RA?

(1) oagss o@osH @8dgge §9)08.

(2) oragdy 4553‘5&3 BRI oragds dghgen J&‘Jﬂémb‘{i:.
(3) TagdEs® RErgS Here 768 bix Bady BoLREDE.
(4) ‘Tﬁﬁﬁ?ﬁ TS SOlgS8 Bl Dodd)oren.

156. From the following identify the State which has higher representation n Rajya Sabha
(4) Andhra Pradesh

(1) Gujarat (2) Kamataka (3) Odisha
Bo8 TS’ TagdISt IEy S (FEITrgd) $ONHY) TRSNS AGoHI.
(1) Kuos (2) S (3) 28 (4) woEHaT

157. Lord ijpnn s famous resnlutmn on Local Self Government was passed on

(1) 13 May, 1882 (2) 21° May, 1882

(3) 11" May, 1882 (4) 9" May, 1882

PIL. Jg00FOI Pabeied o°f 855 B8 Bve SoySo vIrGoSES 8O

(1) 18 3o, 1882 (2) 21 3, 1882

(3) 11 3, 1882 (4) 9 3, 1882

Panchayats at the Intermediate Level may not be constituted in a State having a population

158.

not exceeding
(1) 20 lakhs (2) 30 lakhs (3) 40 lakhs (4) 25 lakhs
o6 DEYS) 2Tw H0208D Do TEHINS® H¢gH Fod® Howrandeo Jomyin

L8380 B

(1) 20 ofen (2) 30 ofe0 - (3) 40 ofew (4) 25 ofen
159. The word ‘Cabinet’ is incorporated in the Indian Constitution by this Constitutional
Amendment Act

(1) 420 Cﬂnstimnnnalﬂmendmentﬂct (2) 24“‘ Constitutional Amendment Act
(3) 44" Constitutional Amendment Act (4) 45" Constitutional Amendment Act

88 Trargoffios” ‘TS @) HESn FOBDEDS Trergol HB58eo &350
(2) 245 orergoll $38en wéySoo

(1) 425 orergod S58e W&EW
(4) 455 oargol 356 ISBAY

(3) 445 orargolf S8 Wy

AN MR A




(FL asntian” !

¥ "4 ' is political in Assam.
164. “Elephant” is the election symbol of this po ) %mﬂ-gﬂ [ and People’s Front

(1) Asom Gana Parishad )
(3) Al India United Democratic Front  (4) Janata Dal (United)

©Ioc* §o8 oaloH FE IYEe Ky DR

(1) w90 Ko HOARS ‘l (2) G ergos V) ®o&S

(3) o6 qobosr wIBE FArEE PoS (4) =de &§ (5HPBB) Y
165. The following language is not found in the 8th Schedule of Indian Cnnstituti.nn.

(1) Sindhi (2) Urdu (3) Dogri (4) Gondi

grd& Trargodiodtd 85 Adrgens® oHdbodd e m

(1) 208 (2) wdy (3) & (4) f‘ob A

What are the basic indices for measuring quality of life of people in developing countries?
(1) Realncome, Health and Educational attainments
(2) Real income, Health and under weight of children below 5 years
(3) Health, Education, Infant mortality rate
(4) Income, Health and Educational attainments
VPR Do) Bred, Pue #355 swgd (quality of life) Ferhisso &HRrhod
Arden 2D?
@ TRD wIroRo, eb'go, TGS
(2) &35 eorodho, wsiigo, 8505 8P EINGS) 5 JodHrodHy nyen
(3) o650, D&, 2 Mobere Bin |
(4) eoradho, e6Kgo, DTGES
167. Based on which of the following, Indian Economy is said to be a dualistic economy?
(1) Existence of large scale income and wealth inequalities
(2) Recording higher rate of population growth
(3) Existence of modemn and traditional economy
(4) In efficient utilization of natural resources

808 o8S* TID BEEHd 8 ©R% aﬁgzﬁgﬁo &eods Sle Sg;ﬁgn‘ BaSey?
(1) g S s5roD, H0IE Sgargren EHaSnodoty

(2) ©8% zaregr a’:;gﬂém SarE Dosdd

@) @68, Fopwad SgSgen EOANOLE

(4) P58 SSHheo wddgomr eOGrfoi

168. Inrespect of which of the following, India emerged as the largest producer and consumer

in the world?
(1) Meat (2) Pulses (3) Eggs (4) Tea

§od E8S® B8 Jowodod), rssdso RDoLoes vl "ag B8 IVABrK Sfomr

©358800087
(1) Swrodo @ 53y B%Wes (3) ody (4) Bt

IR -

166.
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The objective of Pradhana Mantri Grama Sadak Yojana (PMGSY) is

(1) Integrated development of scheduled caste dominated villages in the country
(2) Unconnected habitations in rural areas are to be connected

(3) Toprovide old age pension and maternity benefits

(4) To issue property ownership cards to property owners in rural areas

BESSo® S D38 Aras (PMGSY) @#@dge 2sm
(1) 2drgS Heroad whfor ASHOD [FEro ﬁh)ﬁg@ﬁ:ﬁg% HEE

@ (T80, (Fogred® @idordo 570 BTTON BIoTHo Vs

(3) SyTRg oo woBowhts SoBAS0 T0B0%H BHaH0 BoBob
(4) (T Fosros'd uf chasrHed 8Y Sradrsy sho 06 Bokow

170.

In which year the new industrial policy announced the abolisation of industrial licensing in
India?

S80St O HoSSBost HEBODS VOFNE DFFY) VB0 FOFE TAoh
Apdo 8y BoSondod?

(1) 1948 2) 1951 (3) 1956 1991
171. Which of the following activity is not a part of service sector?
(1) Fish farming (2) Warehousing of fish
(3) Transportation of fish (4) Sale of fish
Bod ar83e5* hardolios® o 5RGA?
@ Do wosso (2) TBden Jeog Bokhdo
(3) THe Laver (4) Wdo wviygo
172. According to J.M. Keynes, what is the main cause of unemployment in developed countries?
(1) High Population (2) Introduced Automation
(3) Low effective demand (4) Low quality of Education
OP5)Y BodS BTes” IHE'YTIL B swor IM. 8§) AID D67, TK?
(1) ©§8 z=arer (2) oSro@Etedy PIFYG
@) g8 asrod d8y3 (4) o5 TegdSt o

173. As per 2011 census which one of the following districts in Andhra Pradesh (after bifurcation

~ 2014) has the highest sex ratio?

(1) Vijayanagaram (2) Srikakulam  (3) Krishna (4) Visakhapatam
2011 zargr B0 3309800 WoFRBTS® (dFed wloddo 2014) o Zerd’ Q-DR
V8 wdgod JE I obd?

@) suchssse  (2) gssdo 3) & 4) dTesino

L  31a
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174. Who established the EX-IM Bank? findia
(1) The Government of India (2) The Reserve Banko
(3) The World Bank (4) ThelMF

285 (EX-IM) ergooso S8 Foowdd?

@ 2 el Pzhéco
(3) BDows a:r'guéa

(2) 0x8y ergose & BB
(4) IMF

175. TRIMs and TRIPs agreements are related to which of the followin

g International

Organisation? ]
53 (TRIMs) $8050 ¢35) (TRIPS) @082 & §od TS D @odEBaH JoPK
Ro0HoNI adyoiren?
() wro. (2) LBRD. (3) ILO. (4) IMFE "y
176. Match the following incidents with their respective dates.
List-1 | List-11
a)  Prime Minister of India Commissioned INS-VIKRANT on i) 15 July 2022
b) Ban onidentified single use plastic items in India ii) 2nd September 2022
came into force from
¢)  The First National Start-up Day in India was celebrated on  iii) 215 July 2022
d)  Smt. Droupadi Murmu elected as the iv) 16 January 2022

15th President of India on

& (808 DHodbrded T8 Hoxodhodd BheS' 2dichod.

da-1 de-11

a) 88 PErdSo@ INS JErosdH ©vdH oA 88 1) 18 2022

b) @rE8BFos* HBowwBS BoAS ord IR : i) 2028 2022
SRPHoD Jado vdhess SNS 88

c) rddddos® I08E “=rdcdh wokd Soge 1) 21 28 2022
BT HS0” 2695 B8 -

d) @508 @8 Swty 68 155 THIB IS B8 iv) 16 2556 2022

The correct answer is :

DBGS Jdrprdsn :

(1)  a-i, b-ii, c-iii, d-iv @) a-il, b-i, c-iv, d-iii

(3) a-i, b-il, c-1v, d-1 (4)  a-iv, b-i, c-ii, d-ii

TR


8923917
Oval

8923917
Oval

8923917
Oval


P-1 Booklet Code E

>garding the awards of Swachh Survekshan - 2022.
city title for the sixth consecutive year in more than 1 lakh

17. Choose the correct statements re

a)  Indore won the cleanest
population category.

b) Panchgani won the cleanest ¢

anchgani w ty title for the less than 1 lakh population category.
¢) Tirupati received the best ci

e | . ty award in Safai Mitra Suraksha category.

d)  Rishikeshreceived the award for the best Ganga town in more than 1 lakh population
category.

(1) (a), (b)and (c) only (2) (b), (c)and (d) only

(3) (a),(c)and (d)only (4) (a),(b)and(d) only

D0gy $00¥e5-2022 VTROK Hoood) JBS T¥gSven JohE Bohod.
a) | of %08 D89 S 2T EOAS SLA0S® R0E'E SHdHm 65 6 V8508 HODHIIS
?."aégsa-:: 886 Reothtood.

1 ©f 508 8595 aavgr 085 SLABS HoSKD ©dgod SOV Iwo BES
Noothood.

C) Do M WOT ELABS® BHH8 G#EH Bhmo vTE RerHE0S.
d) 1 oF %08 55 zargr A 3LABS® &E5 Ko Dhe00 R SUST ReothBod.
(1) (a), (b) H8050 (¢) S (2)  (b), (c) So80%0 (d) S

(2), () 598050 (d) S 4) (a), (b) So8050 (d) S5

178. According to the MoU between the Ministry of Agriculture & Farmer’s Welfare Govt. of

India, and United Nation’s Development Programme (UNDP) in May 2022, UNDP provides
technical support to the following.

a) PM Kisan Samman Nidhi Yojana (PMKSNY)
b)  Kisan Credit Card - Modified Interest Subvention Scheme (KCC - MISS)
¢c) Pradhan Mantri Fasal Bima Yojana (PMFBY)

d) Pradhan Mantri Krishi Sinchayee Yojana (PMKSY)
(1) (a)and (b)only (2) (b)and (c) only
(3) (c)and (d)only (4) (a)and(d)only

88 Hdg; Sg5FaPn & B 08N Do@deTp IoBosw wEgTEg HNS ©d5)8
s6gEv0 (UNDP)E 3o 2022¢5° $oc06)$od) edmara wdyodo @sdo UNDP & (§od
T8 FosBE BHFoHo ©wodNOH.

)  PM- 83 3878 36 Srad (PMKSNY)

b) 83S BAS 5§ - IrdpE 2B HFILS S (KCC - MISS)

C) PEridod 0S5 Hir Arad (PMFBY)

d) PErdo@ sy dodon Arad (PMKSY)

(1) (a) H0c50 (b) Sor@d (2) (b) SoBcsd (c) S

@) (© m005 (d) s> (4) (a) 2900 (d) S

LT 39
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rof gold and highest number of silver medals

umbe
1?9 Eznmgﬂfmzalfii?nl?htlgz};}:;i%::; Games - 2022 respectively. |
(1) Athletics and Judo (2) Athletics and WI'E..'SHII'I.E. |
(3) Wrestling and Athletics (4) Wrestling and Weight lifting
smoe 3G A - 2022 e5* erdedddo @ﬁsﬂné 208 H00050 widghs Beas HBS O ﬁﬂ:f.ﬁ:ﬁ};’ﬂ
Derren SEHdm
(1) 38§ Hockn »¢ (2) ©BBE Sbohw Bgoh
(@) 205 w003 wesg (4) Dol 005 DowdS doh
180. The winner of both the U.S. Open and French Open Women’s Tennis singles titles, in 2022
15
(1) Elena Rybakina (2) IgaSwiatek
(3) Ashleigh Barty (4)* Coco Guaff
20226° U.S. &5 00050 @0 &5 Herdo BYS HodS) B 00808 HOVB
(1) J8s seréa @ o 58S
(4) &8 nS

(3) ob o8
According to the Economic Survey 2021-22, India’s overall score on the NITI Aayog’s

. SDG India Index and Dashboard in 2020-21 is
Egﬁ F&ﬁs 2021-22 Hsto, 2020-218° 08 uBrh SDG mododr godf) HSo0odw»
FgRSRS® grostFo @Y, dndo 90
(1) 64 2) 65 @) 66 4) 67

182. The Reserve Bank of India published Financial Inclusion Index in August 2022. According
to the report the raise in the value of Financial Inclusion Index from March 2021 to March

2022 is
(1) 53.9to 59.3 (2) 56410593

(3) 53.9t0 56.4 (4) 549 to 56.4
eidp 20226° arédah dudyy wrgof @fE SRS S HEBR0d. & IVBE W So

Egé SN Jr) Dendest 378y 2021 ook 378y 2022. 3% hhde

(1) 53.9 8008 59.3 (2) 56.4 £08 59.3

@ 53.9 008 56.4 | (4) 54.9 S04 56.4

GO AT 40
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83. Expand the IPMDA which was initiated in the Quad - Leader’s Summit - 2022, in Tokyo in
May 2022.

(1) Indo-Pacific Partnership for Medical and Drugs Awareness.
(2) Inclusive Participation in Maritime Domestic Arms.

(3) Indo-Pacific Partnership for Maritime Domain Awareness.
(4) International Participation in Maintaining Drug Awareness.

R 2022 & $FgS 2088 58 o ISrDdo 2022 &° (@EoPosadsS IPMDAS
JJBowiod.

(1) RoG*-H0HE FPSEAS 96 HAES woll (B LIEID.
(2) 05725 FPVDAT @S ro8%H FHYPS 6b)),

() 2065096 DEEND 95 $rEBSH> TS VIEIH.

(4) R0LNAIS PPV DAS 25 FonSBondoh (BA VIEIS.

184. The first woman appointed as the Director General of the Council of Scientific and Industrial

Research.

(1) Jyotirmayee Dash (2) NeenaGupta

(3) Chandrima Saha (4) Nallathamby Kalaiselvi

TS 6D RoBVE ©o& QodRNS 65§50 BEEE 2365 JGHDLHBS IncE Dere
(1) &£gdGen T (2) Az Har

(3) So@de >t (4) Sedod 808

185. Choose the incorrect statements regarding the field of education and skill development in
Union Budget - 2022-23.

(1) Oneclass -One TV channel programme of PM eVIDYA will be expanded from 12 to
100 TV channels.

(2) Startups will be promoted to facilitate Drone Shakti for Drone-As-A-Service.

(3) Establishment Digital University to provide universal education.

(4) Launch of DESH-Stack e-portal : A Digital Ecosystem for skilling and livelihood.
Solf g4 2022-2365° Dy H0dsw pazref ddedoss Sorras 5020800 05D SPEG00
J0DE Tadndw.

(1) PMcVIDYA 6585008 af S668 - o8 8.0 580 12 8.0. T78g) ob
100 8.2. o3&k dZBos2d0d.

(2) | @'R-28-2-26¢0 B8 &S #8 egFsdo Bohdo 5o FEood @F&roddo.

(3) @ﬂmﬁgm Dy wodotito §%0 2L Diﬁﬁnﬁ‘gucﬁm ;}U:)é.n

(4) DESH-Stack e-portal: d &z2&& 8090 96 ¥, oh @o& BoOT0EDH @rdodoiido.

GRL R a1
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186. ‘Anubhuti’ - the QR code-based feedback system launched in February 2022 was aimed to
(1) Address the problems of the female artists of film industry in Mumbal.
(2) Analyse the requirements of the students of Class X in Mumbai.
(3) Ensure the safety and security of the people with maximum use of technology in

Delhi.
(4) Address the problems of female workers in Delhi.

D@58, 2022 &* FSoPoIwES QR E'5 wood HEergE DS -‘0lEra” ouy
&g g,

(1) S00BS'D B JBFHS'D Horer Ersrhe Sodgo S0, be.

(2) B00BSV 385 K688 AT gRe BIST D dinoiso.

@ $9S* BspoEd wdghtor IIBrBod Hae S Hduhn FESs S5 asgdo.

(4) 395D Do $H B0 Bodge $6aM Go.

187. Choose the correct sentences from the following,
a)  Onthe occasion of world Bio-fuel Day, Prime Minister Shri Narendra Modi dedicated

the 2°? Generation (2G) Ethanol plant in Panipat, Haryana to the nation.
b)  The 2G Ethanol plant has been built by Oil and Natural Gas Corporation (ONGC) at
an estimated cost of over Rs. 1000 crores.

¢)  The project will have zero liquid discharge.

(1) (a)and(b)only (2) (a)and(c)only

(3) (b)and(c)only - 4) (a), (b)and (c)

$08 a7e* $BS TEFON Dot odk.

a) (Do £3 oGS BI'F)So Qoddyorr, PEdHo® § $HoE3rs TGS
FRH85S* 25 d80 (2G) as>S FoOD 88 woldo B,

b) 2G 285S Foi5SH esons ©obd SIS mgH 5EN0AS (20.08.2.9) . 1000 &0

PO wodT Sgoodt QB 0008.
) DBES’ Do) 65 G&8 eotnod.
(1) (a) %8050 (b) Srigad @ (a) 508050 (€) SrESHo
(3) (b) Ddcsw () S (4) (a), (b) S8 (c)

AN 2.4
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I88. According to the Global Gender Gap Report 2022, the India’s rank is
Fad Bodd mgd 368 2022 @580 20805 G0E). Trg0¥0.

(1) 125 @ 135 3) 145 4) 115
189. Match the following Raman Magsaysay Award 2022 winners with their countries.
List-I List-I
a)  Chhim Sotheara 1) Japan
b)  Hattori Tadashi 11) Indonesia

¢) Madrid Bernadette, J.
d)  Bencheghib Gary

ii1) Cambodia
iv)  Philippines
& 500 TS DRVD VIS 2022 B0 T8 Brod® =dH8S08.

Toe-] Zder-11
) I Fdo ‘ i) 23S
b) e smn i) R0&B0se
c) Srd& 3638. 2. 1) srof*&asr
d) BoBAS mb V) 29N
The correct answer is :
éﬂ@:é RATSEN
(1) a-iii, b-i, c-iv, d-ii (2) a-iv, b, o, duii
(3) a-iii, b-iv, c-ii, d< (4)  a-ii, b, c-iii, d-iv

190. The Nobel Prize-2022 winners in Chemistry are

(1) K. Barry Sharpless, Alain Aspect and Svante Paabo
(2) Carolyn R. Bertozzi, Morten Meldal and K. Barry Sharpless
(3) Morten Meldal, Anton Zeilinger and John. F. Clauser

(4) " Carolyne R. Bertozzi, Svante Paabo and Anton Zeilinger
SHRS* Sas 28-2022 {Erseo

(1) K.orb 2685, €3S s Sobcsm F08 *
(@) 505 R. B2, 375 BegS S600 K. o6 2555
(3) 1S exs, wodS 2dois H08csw =8. F. 536
(4) £8'0S R. 3Gz, 3008 5 8k BobS 2oKE

43-A
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191. Choose the incorrect statements regarding GSAT-24 satellite. o
a)  ISRO successfully launched GSAT-24 satellite from Kourou in French Guiana in June

2022.
b) * Weight of GSAT-24 is 3180 kg.
¢) GSAT-24 is a 24-Ku band communication satellite.
d)  Thesatellite was successfully placed into geostationary orbit by the Ariane - IV rocket.

GSAT-24 &5155508 Ho20800 H05°D Tpgos JovhEod.

a) ISRO 273 2022¢5* (3015 Kosraes D T 5008 GSAT-24 ¢3E5*Q) dachsodomr
PEBrAcod.

b) GSAT-24 2653 3180 &cS*en,

c) GSAT-24 38 24-Ku wrgol EJ0rgdBAS GdSo.

d) DBAHS-1V oaes TG0 SHETR) BrRE E555* uchHSodor o,

D @&d) Q) &  (B) ©&@ (b) & (d)

192. In August 2022 Modern equipment was supplied to Indian Army. Nipun is one of them. Itisa
(1)  light weight helicopter (2) missile that reaches exact target

(3) anti-personnel mine (4) thermal imager
aplefsd DIgoso ©13) 202265° ©oBodS BRIES PHPS® IHS Srm $od. 2B af
(1) B9E>S rdsp6 . (2) 2SS oFgd) FE DS
@) o308 5558 28 4) 65 adons &
193. Match the Military/Naval exercises with their participating countries.
a) SAREX-2022 . 1) India-US joint military exercise
b)  Dharma Guardian-2022 11)  Indian coast guard exercise
c) Varuna-2022 i) India-Japan Joint Military exercise
d) VAJRA PRAHAR-2022 1v) India-France Naval exercise
808 Dobd/ad DTRoH FON) Bros 2856508,
Hae-] ' da-11
a) &%§) -2022° 1) =9o0&cs»-US GG Dedd DT e
b) &8 MRS - 2022 _ 1) 2086HS &8 8% $¥o DT gAen

c) S - 2022 1) 2oboSr-25 @308 edrd DgHo
d Sz dr6 - 2022 V) 208ESF-FS) Tdeo DT gH0

The correct answer is °

:f:rﬂ@é SArSSn
a-ii, b-iii, c-iv, d-i

(3) a-ii, b-iii, c-1, d-iv

AU eAm A

(2)  a-iii, b-ii, c-iv, d-i
(4) a-iii, b-i, c-ii, d-iv
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194. Choose the countries that joined the steering board of First Movers Coalition led by WEF

and US Government in May 2022,
(1) Japan, Sweden and Germany (2)

India, Germany and Sweden
(3) Japan, Germany and India

(4) India, Japan and Sweden
3y 2022 &° WEF S08030 US a0 ToSEdco 5o 2 LS FonBaS B,
%ﬂoﬁ SRS’ D68 Do,

(1) 2, fbﬁg_ﬁ5 S08 0350 eaﬁ@ﬁl_ |

(2) =0b0sr, 26 Soba5 AS
(3) &, 26)0 0050 Qodcsr

Qo&ir, e S8 53555

195,

As on August 13,2022 India adds 11 more wetlands to the list of Ramsar Sites. Choose the

correct statement from the following regarding the number of new sites added from the
respective States.

(1) Tamil Nadu-2, Odisha-3, Jammu & Kashmir-4, Madhya Pradesh- 1, Maharashtra-1
(2) Tamil Nadu-3, Odisha-4, Jammu & Kashmir-2, Madhya Pradesh-1, Maharashtra-1
(3) Tamil Nadu-4, Odisha-3, Jammu & Kashmir-1, Madhya Pradesh-2, Maharashtra-1
(4) Tamil Nadu-4, Odisha-3, Jammu & Kashmir-2, Madhya Pradesh-1, Maharashtra-1

ey 13,20225 6840 11 ©8sH D88 JooH TR PiTe THas® B, soir
ogre Hob FEr 028 B oo Jopgs Dow0dod FBS HIrEro JobE Bohod.
(1) SDdd-2, wbir-3, udn) & 5°3)5-4, SSHBF-1, Hdtomy-1

(2) S09-3, wb-4, wswy & 52, HESYSEF-1, SHrog-1

(3) S¥ardo-4, wbddr-3, 2d0y & 5°95-1, HEgHAF-2, HdtoGH-1

(4) Séo-4, wbir-3, udiy & 5)5-2, SosgPds-1, Hsog-1

196.

On 25™ February 2022 The Secretary General of the United Nations appointed the following

as the Assistant Secretary General to serve as United Nations Crisis Coordinator for Ukraine.
(1) Michelle Bachelet

(2) AminAwad

(3) Frederic Leclerc - Imhoff

(4) Wairimu Nderitu |

VRSB 25, 20228 oEgTrag IS DELD 23S & 18od TOA GE0NI pEFTRG IS

D08 dHoScoREgm HIVBANLKH BURoE DEFLE 2386 Jahow .
(1) DTS BB

(2) oD @58
(3) &0k BESE, -2
(4) Sodn Jo&

LR A 45A
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197. The theme for World Maritime Day-2022 is ‘

(1) Empowering women in the maritime community
(2) Sustainable shipping for a sustainable planet

(3) Seafarers : At the core of shipping’s future

(4) New technologies for greener shipping

2022 365 Sro8% & G0, adlyHo

(1) D0H580F JWS as & JroB ESorgdes
(2) SPowsend Adoh 6 J TPodend T3
(3) FEEy: A5 & 56 & Qadyofy) Jrgss
Sy BEodS 35 BSE Bdyok

198. “Progress towards an equitable world” is the goal of the following summit held in 2022,

(1) G20 Summit (2) G7 Summit
(3) BRICS Summit (4) 12U2 Summit
"BIrST]oE ©HSoo 3 HEKS” 20225° 20AS & Bobd Ipord HSrBE ©Fgo.
(1) G20 e @ G7 530,
(3) ©§ HE50) (4) 1202 S35
199. Match the following persons with their respective positions/designations as on October
2022.
List-I List-11
a) IMF - Executive Director 1)  Sanjay Kishan Kaul
b) DRDO Chairman ii)  Krishnamurty Subrahmanyan
c)  Supreme Court legal services 1) Sameer V. Kamath

committee chairman
d)  Scientific Advisor to Minister of Defence Iv) G Satish Reddy
& Bod Sy 2022 vSE FBE 38 TTOE/[Fros® 28850508,

i e- 2 Hea-]]
2) DN - IFErg3S 3056 1) DouchH 84S TS
b) A&e64.5 36S i) Y S8 DORT)EDGS
C) D08 argodd SIS i) [ 2. %S
E8 vgBahd
d) &g» 0@ ThoH doFod V) 2 383 34
The correct answer is :
SO HEPTSLED : |
(1) a-i, b-iii, c-ii, d-iv 2)  a-ii, b-iii, c-iv, d-i
(3) a-1, b-11, c-1, d-iv 8 a-1i, b*lll, c-1, d-1v

O A 464


8923917
Oval

8923917
Oval

8923917
Oval


P-1 Booklet Code |

=

200. Match the following books with the authors.

List-1 (Books) List-II (Authors)
a) InFreeFall: My Experiments with Living 1)  BimalJalan
b) India’s Economy from Nehru to Modi : i1) Mallika Sarabhai
A Brief History
¢) From Dependence to Self Reliance 111) Sahil Seth
d) A Confused Mind Story iv)  Pulapre Balakrishnan

8ol WA Yo londed zdBood.
20 -] (HIseen) da-1l (§Sonden)

) AP FS: D IGVOJo) I8 Bof i) DS 2od

b) 20AWEFR I P ITo Lo IeB i) S5 Foerodd
: @D g6 |

C) P &ods) o ?JEEEJ S0 i) &S 26

d) 2 8SomgE Pod O V) Dol ToBID
The correct answer 1S :

DOGIN VITrTRA0

) i, beiv, c-i, d-ii (2) @i, b-iii, c-i, d-iv

(3) a-iii, b-ii, c-1, d-iv (4) a-i, b-iv, c-ii, d-iii

00000
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